T T T2018-20197F4F N A W Fh s DL i A
CAERBUA A HIR)

(ASXA %9 100 9, Z XA 60 5%F)

Hii 2 — - = | B 7 Mg
5
R IN

FROETMN, BE - F T AR —RARRBGR, HARAEE, F

2RI B e R ve
—BEMIE (2145, £180)
1.28+7=¢( ), IR BUE ( ), B ( ), B2 ( )o
2. E—NEAFENERE  WwREA ik SOF Tk, A4 bk E( )
L HE( )
3.18+2=9,%7( )3 5 1 ( Vi, R ( )o
4. #HF 9( VI IRET, (BER"HTE)

5 . {‘EOEJTE—J:“>”\“<”.EE“=”O
4x9+6 ()14-56+7

5x6-18 () 16

6. F 12 NEEK,FH2R 6 0,80 ( AN R 3 AN R —1, T U
K ( )1 o

7. 28 ARG /NMEBEBIEFH & 4 RANEZE A, T LUE( )N ik AL
IEF I,

8. IS B TH R A,

530 0 R B

( )
“HONED —1—

“BEAFER (&0m2 5,110 %)
1. TELAEHH,( )AL VT Ll A P 45 E

\ 0o ((

2. 124 A EFTHLR O AMEE , FAA( )A
A.3 B. 4 C.6
3. TF| 4R R o 5% o = ( )
A. bk oy 4E 4
C. RE®EGY mEHZ
4. iTH 18 + 3 B #E( )
A. ZxFN\ i VAN C. Z=41
5.¢%ﬁzzﬁﬁmﬁmml&mﬁﬂﬂx A ET 11 K, NERER
( VARG ] K
A. 18 B. 48 C. 26
=VBRRER (21 4)
1. 8%, (94)
35+ 5= 7 X9 = 49 +7 =
24 — 6 = 42 + 6 = 24 = 8 =
35+12+4= 20 -5 +5= 3X(2+4)=
2. BEEH, (124)
4 X (72-67)

B. BAJEEN4kER

36+ (47 — 41)

58 - 72+ 8 63+ 4 x7

ZHONED —2—



M SERRIRMIE (11 %) 7N JJRIRERE (25 4)
1. THMWEZESZNBEKL LR T RMN? (8 4) 1. LEEWET a0 8 & B el Ezks 64, (104)

“ g\fg g &7 (1) £ 44 JLEAIE 10 4, L F £ b A9
g g @ @ (2) BF T FH 9% 4 AR, FIE5 LA

2. ®ANRE AT 6 4%, FHm LFHE 5K,

2. BEM, (15 4)
l g

ARG (15 ) (1) %3 %E/%L\frﬂ/%%ﬁlié%ﬁ%&%?

()R F A BB AL A
EX A 2 A A

Ak 9 10 8 4
— N
1. A SR kT ERTHAR, (124) (2) 30 TLHE L LE 47
A - #* A

b

(3) 54 TAELT 1 WAL R, BT &L H I

m

L®AL?

-
m
A

2. A HA( VW ABR S, HE( VEMAB R, (24)
3. Z () EA( YA (14)

“HONED —3— “H(NHD —4—



VAT T 2018-20192% 45 1 24 B B Hh ALl it

TEBNBIOSEE R

—.1.4 28 7 4 2. % i
3,18 2 9 4, F R
5. < - 6.2 4
7.7 8, F# e ¥%

=1—5 C B A A A

=17 63 56 18 7 3 38 19 18

IS

CTRNIN S 2. % A 3,31

A1 (1) 5%X6-10=20(4)

(2) 20 =4 =5(1)

2.(1)3x6+30=48(n)

(2) 30 + 6 =5(38)

(3) (54 =30) +8=3(%)

4



